Xbeauty centre



beauty starts here.



facials

Treatment	Session	Pack #	Pack \$	Duration
Acne	\$250	6	\$1500	
Anti Aging Golden	\$300	6	\$1800	1:20
Basic Dermaplaning	\$100	4	\$400	0:30
Cosmelan	\$1173			0:30
Dermaplaning Plus	\$200	4	\$800	0:50
Deep Cleansing	\$100	4	\$400	0:50
Express Facial	\$50			0:30
Face Lifting+Radio Frequency +Vitamins	\$200	6	\$1200	0:50
Hydrodermabrasion	\$150			0:50
Hyaluronic Contour on Eyes and Lashes	\$100	4	\$400	0:30
Luxury Facial	\$350	6	\$2100	1:50
Melanopeel	\$1200			0:50
Microdermabrasion +Deep Cleansing+Vitamins	\$210	6	\$1260	1:20
Microneedling	\$350	6	\$2100	0:50
Oxygen Therapy	\$150	6	\$900	0:50
Peeling	\$250	4	\$1000	0:30
Power Vitamin C	\$150	6	\$900	0:50
Power Hyaluronic	\$150	6	\$900	0:50
Retinol	\$150	6	\$900	0:50

facial memberships

Bronze

Deep Cleansing Facial or Relaxing Massage

\$79 Per Service

Silver

Face Lifting or Microdermabrasion

\$140 Per Service

Golden

Anti-Aging Golden Facial

> \$210 Per Service

Diamond

Luxury Facial

\$245
Per Service

	x1 Session	x10 Package
Body sculp	\$150	\$1.500
Cavilipo (Body Contouring)	\$198	\$1.980
Cavilipo + Body sculp	\$314	\$3.140
Body sculp	\$314	\$3.140
Cavilipo + Cellulite	\$357	\$3.570
Cellulite	\$198	\$1.980
Cellulite + Body sculp	\$314	\$3.140
Cellulite + Lipolaser	\$314	\$3.140
Lipolaser	\$198	\$1.980
Lipolaser + Body Sculp	\$270	\$2.700
Lymphatic Drainage	\$130	\$1.300
Postpartum	\$198	\$1.980
Postpartum + Body Sculp	\$314	\$3.140
Post Surgical (ABS and Back)	\$200	\$2.000
Post Surgical (Full Body)	\$250	\$2.500
Pressotherapy	\$100	\$1.000

laser hair removal

XS

Upper Lip
Chin
Cheeks
Ears
Sideburns
Nipple
Belly Botton Line

\$45 Per Session

S

Neck (Back or Front)
Underarms
Hands
Breast
Bikini
Feet

\$90 Per Session

M

Full Face
Full Neck
Brazilian
Buttocks
Shoulders
Upper/Lower Arms

\$135 Per Session

Chest
Abdomen
Upper/Lower Legs
Upper/Lower Back

\$180 Per Session

XL

Full Arms
Full Back
Full Legs
Abdomen+Chest

\$225 Per Session

FULL BODY

This package includes all the areas on the body where you have unwanted hair

\$800 Per Session

injectables

botox

fillers

\$12 per unit \$650 each

lips

p.r.p

\$650 each

\$650 each

threads

mesotherapy

\$650 each

\$300 each

tag removal

subcision

\$100 starting price

\$100 starting price



colour experience

	junior stylist	expert	director stylist
root single touch - iNoa	\$65+	\$75+	\$80+*
root correction	\$80+	\$100+	\$120+
root bleach	\$100+	\$125+	\$155+
full colour	\$120+	\$145+	\$170+
partial Highlights	\$100+	\$125+	\$170+
full Highlights	\$160+	\$185+	\$210+
toner	\$65+	\$70+	\$80+
shadow roots/ toner	\$100 +	\$125+	\$155+
balayage / baby lights / ombré	\$160+	\$200+	\$250+
air touch	\$200+	\$250+	\$300+
color correction	\$80 hr	\$100 hr	\$120 hr
clear closs	\$65+	\$65+	\$65+

cut & style experience

(Includes wash, cut & blow dry / styling)

womens – haircut & style	*\$55+	\$65+	\$80+
bangs Trim	\$15+	\$20+	\$25+
wash / style	\$35+	\$45+	\$45/Up
wash / style / curls-waves / flatiron	\$40/45+	\$40/50+	\$45/Up



barber shop services

classic haircut / fade	\$40
stylist haircut	\$55
the buzz cut	\$35
kids Cut	\$35

*all cuts includes a hair wash

adds on

*shaves & detailing

beard trim, blend, shaver shave	\$20
beard grooming, detailing, razor / shaver shave	
(includes hot towel, shoulder massage)	\$35
mo'goatee	\$25
bald head shave	\$45
classic razor shave full face	\$40
hair line / beard razor shave	\$25
charcoal face mask	\$20
back/front of neck shave	\$15



extras

design and details \$10 starting price shampoo, massage and style *\$25 colour/highlights (consultation required) \$65 starting price scalp treatment \$40 starting price \$15 starting price

spa services

deep cleansing facial (50min) \$100
hydrofacial (50 min) \$150
relaxation massage (50min) \$100
laser hair removal (consultation required)
eyebrow wax

back waxing



the most luxurious scalp and hair treatment embark on a journey to revitalize your hair and scalp with our Restore, Repair, and Replenish treatments. Designed for all hair types, hair loss control, and hair damage.

*All treatments are color safe.

cosmo

the beginning of hair regeneration

\$80

Bringing your scalp and hair back to essentials, recover your scalp, follicles and hair in this essential starter treatment of 45 minutes minutes session we rebound by stimulating scalp microcirculation, follicles and cuticles cleansing and breathing.

consultation
digital massage
cuticles buildup purifying solution
scalp and hair primer lotion
shoulder massage

your choice:

deep moisturizer treatment (included)

fusiodose \$30

odour treatment \$15

salon services

atoms

the bounding conception

\$130

Olaplex Bond builder system: recovery system purifies hair down to the cortex to remove product buildup, oil, hard water minerals, chlorine, heavy metals, pollutants, medications, and discoloring iron and copper deposits–all without stripping hair of its moisture and essential proteins.

consultation
olaplex 0 - 3
detox shampoo (4c)
spectrum
bond shampoo (4)
4 in 1
shoulder massage
primer

salon services

Xyume experience genesis premiere

nourish your dreams

\$150

Experience the most luxurious and advance technology on scalp and hair care. Première is a repairing hair care ritual for all types of damaged hair. It frees your hair from calcium buildup that leads to breakage and reconnects the broken keratin links for stronger hair. Recreate 99% * of your hair's original strength.

1 monthly session suggested.

consultation
concentre Décalcificant
scrub
digital massage
bain
fondant fluide réparateur
mask filler / fusiodose
shoulder massage
primer

upon your needs:

kerastase première, genesis, resistance (included)

kerastase CRONOLOGISTE

\$20 extra

salon services

curves

the ultimate Curls experience

\$120

Recover, reeducate and transform your curves-curls feel the magic of empowering your natural hair beauty. Walk the streets with glam, bounciness and fearless.

consultation
clarifying shampoo
scalp scrub treatment / odour control
curl manifesto Bain
digital massage
hydratant intensive
shoulder massage
primer

your choice:

loreal cur expression (included) kerastase curl manifestó salon curl system finish

\$ 20

timeline revive

the ultimate hair care solution to prevent hair loss

\$120

By age 50+, 60% of men will experience hair loss and 50% of women will experience hair loss in their lifetime. No Harsh Ingredients, parabens or sulfates that can damage hair or follicles

consultation
digital lymphatic stimulation
deep scalp and follicles cleansing shampoo
digital massage
scalp restoration mask
micro stimulation serum

upon your needs:

l'Oréal serioxyl advance reviv3 procare salon services

Xbeauty centre

elevate your beauty.



beauty starts here.

416.548.4000

2464 Dufferin Street Toronto, On M6B 3P8 info@xbeautyto.com

www.xbeautyto.com